

<section-header><section-header><list-item><list-item><list-item><list-item><list-item>









Single Frequency Fields $\nabla \times \vec{E} = -\frac{\partial \vec{B}}{\partial t} = -j\omega \vec{B}$ $\nabla \times \vec{H} = \vec{J} + \frac{\partial \vec{D}}{\partial t} = \vec{J} + j\omega \vec{D}$ $\vec{J} = \sigma \vec{E}$ $\vec{D}(\omega) = \varepsilon_b(\omega) \vec{E}(\omega) + \vec{P}_a(\omega)$ $= \varepsilon_b(\omega) \vec{E}(\omega) + \varepsilon_0 \chi_a(\omega) \vec{E}(\omega)$ $= \varepsilon_b(\omega) \left(1 + \frac{\varepsilon_0}{\varepsilon_b(\omega)} \chi_a(\omega)\right) \vec{E}(\omega)$

Review EM

Here we will use plane waves with propagation in one dimension, the z direction.

$$\nabla \times \nabla \times \vec{\mathbf{E}} = -\nabla \times \frac{\partial \vec{\mathbf{B}}}{\partial t} = -j\omega\nabla \times \vec{\mathbf{B}}$$
$$\nabla \times \vec{\mathbf{H}} = \vec{\mathbf{J}} + \frac{\partial \vec{\mathbf{D}}}{\partial t} = \vec{\mathbf{J}} + j\omega\vec{\mathbf{D}}$$
$$\nabla \times \nabla \times \vec{\mathbf{E}} = \nabla(\nabla \cdot \vec{\mathbf{E}}) - \nabla^{2}\vec{\mathbf{E}}$$

Now if the dielectric constant does not vary with distance then $\nabla \cdot \vec{E} = 0.$

8

7

Wave Equation

$$-\nabla^{2}\vec{E} = -j\omega\nabla\times\vec{B} = -j\omega\mu\nabla\times\vec{H}$$
$$= -j\omega\mu\left(\vec{J} + j\omega\vec{D}\right)$$
$$= -j\omega\mu\left[\sigma\vec{E} + j\omega\varepsilon_{b}\left(1 + \frac{\varepsilon_{0}}{\varepsilon_{b}}\chi_{a}\right)\vec{E}\right]$$
$$= \omega^{2}\mu\varepsilon_{b}\left[1 + \frac{\varepsilon_{0}}{\varepsilon_{b}}\chi_{a} - j\frac{\sigma}{\omega\varepsilon_{b}}\right]\vec{E}$$

9

One Dimension

Using the plane wave approximation and assuming both the background material and the atoms leading to gain provide isotropic response we can reduce this to a simple one dimensional equation. Also we can then use linear polarized light without loss of generality.

$$-\frac{\partial^{2} E}{\partial z^{2}} = \omega^{2} \mu \varepsilon_{b} \left[1 + \frac{\varepsilon_{0}}{\varepsilon_{b}} \chi_{a} - j \frac{\sigma}{\omega \varepsilon_{b}} \right] E(z)$$
$$\frac{\partial^{2} E}{\partial z^{2}} + \omega^{2} \mu \varepsilon_{b} \left[1 + \frac{\varepsilon_{0}}{\varepsilon_{b}} \chi_{a} - j \frac{\sigma}{\omega \varepsilon_{b}} \right] E(z) = 0$$

10

$\sigma=0, \ \chi=0$

If we have no conductivity and no susceptibility from the atoms, i.e., just a lossless background dielectric

$$\frac{\partial^2 E}{\partial z^2} + \omega^2 \mu \varepsilon_b E(z) = 0$$
$$E = E_0 e^{\pm jkz} \Longrightarrow -k^2 + \omega^2 \mu \varepsilon_b = 0$$
$$k = \sqrt{\mu \varepsilon_b} \omega = n \frac{\omega}{c}, n = \sqrt{\frac{\mu \varepsilon_b}{\mu_0 \varepsilon_0}}$$

$$\sigma \neq 0, \quad \chi \neq 0$$

The conductivity and susceptibility will in general be small so we can approximate
$$\frac{\partial^2 E}{\partial z^2} + \omega^2 \mu \varepsilon_b \left[1 + \frac{\varepsilon_0}{\varepsilon_b} \chi - j \frac{\sigma}{\omega \varepsilon_b} \right] E(z) = 0$$
$$E = E_0 e^{\pm j k z} \Rightarrow k^2 = \omega^2 \mu \varepsilon_b \left[1 + \frac{\varepsilon_0}{\varepsilon_b} \chi - j \frac{\sigma}{\omega \varepsilon_b} \right]$$
$$\frac{\varepsilon_0}{\varepsilon_b} |\chi| \Box 1, \frac{|\sigma|}{\omega \varepsilon_b} \Box 1, k \approx n \frac{\omega}{c} \left[1 + \frac{\varepsilon_0}{2\varepsilon_b} \chi - j \frac{\sigma}{2\omega \varepsilon_b} \right], \chi = \chi' + j \chi''$$
$$k \approx n \frac{\omega}{c} \left[1 + \frac{\varepsilon_0}{2\varepsilon_b} (\chi' + j \chi'') - j \frac{\sigma}{2\omega \varepsilon_b} \right]$$
$$= n \frac{\omega}{c} \left(1 + \frac{\varepsilon_0}{2\varepsilon_b} \chi' \right) - j n \frac{\omega}{c} \left(\frac{\sigma}{2\omega \varepsilon_b} - \frac{\varepsilon_0}{2\varepsilon_b} \chi'' \right)$$

Loss

Now let's take propagation for simplicity in the +*z* direction so our propagating wave is of the form $e^{j(\omega t - kz)}$

$$k = n\frac{\omega}{c} \left(1 + \frac{\varepsilon_0}{2\varepsilon_b} \chi' \right) - jn\frac{\omega}{c} \left(\frac{\sigma}{2\omega\varepsilon_b} - \frac{\varepsilon_0}{2\varepsilon_b} \chi'' \right)$$
$$e^{j(\omega t - kz)} = e^{j \left[\omega t - n\frac{\omega}{c} \left(1 + \frac{\varepsilon_0}{2\varepsilon_b} \chi' \right)^z \right]} e^{-n\frac{\omega}{c} \left(\frac{\sigma}{2\omega\varepsilon_b} - \frac{\varepsilon_0}{2\varepsilon_b} \chi'' \right)^z}$$

13

13

<text><equation-block><equation-block><equation-block><equation-block><equation-block><equation-block><equation-block><equation-block><equation-block><equation-block><equation-block><equation-block>



Gain or Loss

The term in the exponent with the conductivity represents loss. Assume that $\chi = 0$ then it is obvious that we have loss and the loss per unit length is $n\sigma/(2c\varepsilon)$ for the field and $n\sigma/(c\varepsilon)$ for the power.

$$E(z) = E_0 e^{-n\frac{\omega}{c} \left[\frac{\sigma}{2\omega\varepsilon_b} - \frac{\varepsilon_0}{2\varepsilon_b(\omega)}\chi''\right]z}$$
$$\sigma = 0 \Longrightarrow E(z) = E_0 e^{n\frac{\omega}{c}\frac{\varepsilon_0\chi''}{2\varepsilon_b(\omega)}z}$$

Gain

Suppose we have a medium with gain. Then let's look at the field and power gain after a certain length L of propagation.

$$\tilde{g}(\omega) = \frac{\tilde{E}(L)}{\tilde{E}(0)}$$

$$G(\omega) = \frac{I(L)}{I(0)} = |\tilde{g}(\omega)|^2 = e^{[2\alpha_m(\omega) - 2\alpha_0]L}$$

$$\alpha_m(\omega) = n \frac{\omega\varepsilon_0}{2c\varepsilon_b} \chi''(\omega) = n \frac{\omega\varepsilon_0}{2c\varepsilon_b} \frac{\chi''_0}{1 + \left[2\frac{\omega - \omega_a}{\Delta\omega_a}\right]^2}$$
17

17

Gain Lineshape

$$G(\omega) = e^{\left[n\frac{\omega\varepsilon_0 L\chi_0''}{c\varepsilon_b}\frac{1}{1+\left[2(\omega-\omega_a)/\Delta\omega_a\right]^2}\right]}$$

- Note that the lorentzian lineshape appears in the exponent.
- The exponential gain falls off much more rapidly with detuning than the atomic lineshape itself → gain narrowing.



Bandwidth $G_{dB}(\omega) = \frac{G_{dB}(\omega_{a})}{1 + \left[2(\omega - \omega_{a})/\Delta\omega_{a}\right]^{2}} = G_{dB}(\omega_{a}) - 3$ $\left(\omega - \omega_{a}\right)_{3dB} = \pm \frac{\Delta\omega_{a}}{2}\sqrt{\frac{3}{G_{dB}(\omega_{a}) - 3}}$ Full 3-dB bandwidth $\Delta\omega_{3dB} = \Delta\omega_{a}\sqrt{\frac{3}{G_{dB}(\omega_{a}) - 3}}$







$Coss Sections \leftrightarrow Amplification Coefficients$ The net growth or decay rate $\frac{dP}{dz} = -\lim_{\Delta z \to 0} \left(\frac{\Delta P_{abs}}{\Delta z} \right) = -(N_1 \sigma_{12} - N_2 \sigma_{21})P$ $\frac{1}{P} \frac{dP}{dz} = -(N_1 \sigma_{12} - N_2 \sigma_{21}) = -\left(\frac{g_2}{g_1} N_1 - N_2\right)\sigma_{21}$ $\frac{1}{I} \frac{dI}{dz} = -\Delta N_{12}\sigma_{21}$ $\frac{1}{I} \frac{dI}{dz} = -2\alpha_m$ $2\alpha_m = \Delta N_{12}\sigma_{21}$

Transition Cross Section

$$2\alpha_{m}(\omega) = \Delta N\sigma(\omega) = \frac{2\pi}{\lambda} \chi''(\omega)$$
$$= \frac{3^{*}}{2\pi\lambda} \frac{\Delta N\lambda^{3}\gamma_{rad}}{\Delta\omega_{a}} \frac{1}{1 + \left[2\frac{\omega - \omega_{a}}{\omega_{a}}\right]^{2}}$$
$$\sigma(\omega) = \frac{3^{*}}{2\pi} \frac{\lambda^{2}\gamma_{rad}}{\Delta\omega_{a}} \frac{1}{1 + \left[2\frac{\omega - \omega_{a}}{\omega_{a}}\right]^{2}}$$
$$\sigma(\omega_{a}) = \frac{3^{*}}{2\pi} \frac{\lambda^{2}\gamma_{rad}}{\Delta\omega_{a}}$$

25

• The cross section will be maximum for a transition that has purely radiative lifetime broadening only, and no other line-broadening effects, so that $\Delta \omega_a = \gamma_{rad}$.

• If the atoms all have their transition axes aligned and the incident fields are optimally polarized, so that $3^* = 3$.

$$\sigma_{\max} = \frac{3\lambda^2}{2\pi}$$

Effective absorption cross-section can be many times larger than the actual cross-section of the atoms!!!

26









$$\begin{aligned} & \int_{I=I_{out}}^{I=I_{out}} \left[\frac{1}{I} + \frac{1}{I_{sat}} \right] dI = 2\alpha_{m0} \int_{z=0}^{z=L} dz \\ & \ln\left(\frac{I_{out}}{I_{in}}\right) + \frac{I_{out} - I_{in}}{I_{sat}} = 2\alpha_{m0}L = \ln G_0 \end{aligned}$$
$$G_0 = \exp(2\alpha_{m0}L) \rightarrow \text{small-signal or unsaturated power gain} \end{aligned}$$

Power Gain

Overall power gain

$$G = \frac{I_{\text{out}}}{I_{\text{in}}} = G_0 \exp\left[-\frac{I_{\text{out}} - I_{\text{in}}}{I_{\text{sat}}}\right]$$

Written in different forms

$$G = \frac{I_{\text{out}}}{I_{\text{in}}} = G_0 \exp\left[-\frac{(G-1)I_{\text{in}}}{I_{\text{sat}}}\right] = G_0 \exp\left[-\frac{(G-1)I_{\text{out}}}{GI_{\text{sat}}}\right]$$
$$\frac{I_{\text{in}}}{I_{\text{sat}}} = \frac{1}{G-1}\ln\left(\frac{G_0}{G}\right)$$
$$\frac{I_{\text{out}}}{I_{\text{sat}}} = \frac{G}{G-1}\ln\left(\frac{G_0}{G}\right)$$
31



